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Module 4 Lesson 1

-
o
[
7]
o
=3
[

paInpon

Lesson Scenario 1 - Living in barracks

Becker: Specialist Kim, what time do you usually get up?

Kim: The morning bugle blows at six. There is a light physical exercise after the
morning formation and breakfast starts at seven.

Becker: What are the working hours?

Kim: Eight to twelve in the morning and, after lunch, from one to five in the afternoon.
Becker: What do you do in the evening?

Kim: It’s a time for personal maintenance. We clean tools and rooms or enjoy the
hours doing whatever we want after that.

Becker: What time do you sleep?

Kim: We have the roll call (bed check) at nine forty and go to bed at ten.

Scenariol Exercise
1. b
2. b
Lesson Scenario 2 — Military facilities

Kim: Captain Wilson, Where are you staying now?

Wilson: I stay in BOQ 204.

Kim: Oh, Wednesday is the day of battle physical exercise.

Wilson: What's battle physical exercise?

Kim: Every Wednesday afternoon, we do battle physical exercise. Battle physical

exercise means exercise for combat. Everybody joins the exercise and physical games.

Wilson: O.K, What will you do?

Kim: I want to play tennis. Will you play with me?

Wilson: O.K. But I don't know where the tennis courts are?

Kim: T'll tell you. Make a right turn out of the parking lot. Go straight past the Medical
Center and make a left turn right before PX. Go straight and then make another left
after the Computer Center. Go straight and make a right after the Transportation
Center. Keep going straight and you will see the tennis courts ahead.

Wilson: Thank you very much! But it's difficult to understand. Could you guide me?

Kim: O.K. I'll pick you up at 12:30 at BOQ.

Wilson: Thank you! Can we drop by the post office and PX?

Kim: Of course, and I'll go do laundry after the tennis game.

Wilson: That's good. I'll bring my stuff.

Scenario2 Exercise
1. AFAS

2. Hly 2~
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Exercise 4

(Answer):

2R AE, AUdE
Ha3dal

Ay, 7] A7) %
Al 7

T 8y

O PX, T

T -
9c
5 O
s 9
=i}
= d

I

Exercise 6

(1) (Answer): 21

(2) (Answer): 2F5F t] 7] 2~
(3) (Answer): U] 54t

(4) (Answer): 2] 5T

(5) (Answer): AF$] A

(6) (Answer): 222

(7) (Answer): X34

(8) (Answer): EFoFal

Exercise 7

(Answer):

1. attends church service

2. cleans the room and barracks

3. soccer or volleyball game

4. haircut, doing laundry, or ironing
5. writing letters

Exercise 8

(1) (Recommendation): ]t o] A Al 7 8fj o g+ 7}2
(2) (Recommendation): & vl 7|t} oF 4 7}2

(3) (Recommendation): H]-8--2 L v}l 712

(4) (Recommendation): 2FAFl &= 7} a1 Q)54 72
(5) (Recommendation): 2}A} A A2 of i e+ 7}2
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Exercise 9

(1) (Answer): 7149

(2) (Answer): 4 7}=5

(3) (Answer): da9], BrAH, 2w, HEH
(4) (Answer): A}-5 =

(5) (Answer): 4 3
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Exercise 10

(1) (Answer): 1 =2 &

(2) (Answer): 4]l

(3) (a) == B vj= Ao 2 BES Al (X)
(4) (Answer): °}4 <.

(5) (Answer): AH-A] 7Fell AF-8-2F 3

Application Activity 6

(1) (Answer): TFA A]

(2) (Answer): THA A] A1

(3) (Answer): A 3 24714

(4) (Answer): & 3 A]

(5) (Answer): & 5 Al 5-H AL A 714
(6) (Answer): 7H 1 A H] B 2H-A| 1F
(7) (Answer): ©}&A] A2

(8) (Answer): O} A] AR -

(9) (Answer): € A|

Application Activity 7
= o ZAL (7)
ol At (4)
AW 24 (1)
ghokan (10)
o] -t (2)
oo 5 (5)
Z (9)
F A (3)
T 98 (8)
A (6)
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Application Activity 8

(). (F)
(2). (T)
(3). (F)
4. (F)
(5). (D)

T -
9c
EX

")
=]
= d

Application Activity 9

(Answer): 541, G3FR.7], L= o], WA
(Answer): U=0°], 54k 79, WA

Skill Enhancement Activity 2

) oo
o of

Homework 2

()

(a) (Answer): 5+ W

(b) (Answer): Al ¥
(c) (Answer): 7:50

(d) (Answer): 13:15
(e) (Answer): <]

Homework 3

(1) 23 okEA

2) 25 A

3) A oAgA

@ &5 A

) LddAAHeE
6) &5 FA AT

(7) A oFFAl AR
®) &F 3 e

9 LFETAALT
(10) 25 AN A&
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Homework 4
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(7]
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T AIEH Aol Al 74 Sl Ut

A QAo AFA Al 7EA A=A ol EokE Y T

A8 e ofFAlo] a1 &% A A o] EF T
AAA 2L FTAFE LA 55U

Ll o .
L4
o £ o 2
[‘3-?_[2”0[‘10

(1) Aol
@ oA
HA
(3) A b5 A
°F oA
(4) F A FE 4 DA A .

Homework 5

| & Yzt | x|
(2)

| 7] A X |
3)

| ol A, x|
4

| o] mpet) x|
&)

| A o}, [ x ]
(6)

| L3 wko] ) [ x ]
(7)

| Ee Y [ x |
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Homework 8

T -
9c
EX

7]
=i}
= d

(1) (Answer): 4 <

(2) (Answer): 2 7}

(3) (Answer): 3 %

(4) (Answer): &=

(5) (Answer): 7 EH%’% BB 7r==9

(6) (Answer): F & H 715, o] T4 7
(7) (Answer): U, -4

(8) (Answer): & & 9] H-4-

AN

Homework 9

(1 (M
2) (M
3) (F)
) (F)
) (F)
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Module 4 Lesson 2

Lesson Scenario 1 — Locations of Korea

Smith: Where is South Korea located?

Minho: It is located in Eastern Asia. It is the southern half of the Korean Peninsula,
bordering south of North Korea. There are three seas surrounding the land.

Smith: How big is the country?

Minho: The area is about 98,000 sq km.

It is probably slightly larger than the state of Indiana.

Smith: What cities are there in Korea?

Minho: Seoul is the biggest city and there are six more big cities in Korea.

Smith: Is Seoul the capital?

Minho: Yes, it is. Seoul is said to have about 11 million people.

Most people live in cities like Seoul.

Smith: Then, there are probably only a few people in the rural areas.

Minho: Exactly. The absence of young people, in particular, causes a problem, because there is a
shortage of farmhands.

Smith: By the way, are all Korean citizens native to Korea (of Han race)?

Minho: No. Any foreigner can get naturalized as a Korean citizen. However, | heard that it is very
difficult. So, many Chinese people who live in Korea remain foreigners, rather than Korean
citizens.

Smith: Do many foreigners live in Korea?

Minho: There are many American soldiers and employees of foreign enterprises residing
in Korea. Tourists have also increased.

Smith: I see.

Scenariol Exercise

L. elejofi} 2. 1%

-
(0]
(7]
(7]
o
3
N

paInpow

Lesson Scenario 2 - Nationalities

Wilson: What does the Korean national flag symbolize?

Kim: The white background of Taegeukgi reflects the brightness and purity of the Korean
people. It shows that Koreans love peace. The Taegeukgi is a symbol of harmony
represented in the yin-yang. The four trigrams represent change and development.
They are in harmony with theTaegeukgi.

Wilson: Yes, that symbol is the principal of the cosmos.

Kim: That’s right!

Wilson: What’s the Korean national flower?

Kim: Mugunghwa (Rose of Sharon)

Wilson: What’s the meaning of Mugunghwa?

Kim: Mugunghwa means “Forever blossom and never falling flower.”

Wilson: I do not understand. Why does it have the name, Mugungwha?

Kim: Because the flower has infinite beauty.

Wilson: Ah! I understand.

Kim: Do you know Aegukga?

Wilson: Yes, it is the Korean national anthem. It means, “The song of love for the country.’

Kim: You know a lot about Korea.

Wilson: Well, thank you for explaining all of this to me!

9
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Exercise 6
(H
| (b) | 122,762 km® | X |
(2)
39 [(©) [ 55% X ]
34
=3 (3)
| (d) | July of 1953 | X |
4)
| (d) [ 2,495 km (X) | X |
%)

(@ [F@e] 5%e g0 eAotsl Aalgleh. [ X |

Exercise 8

(1) (c) northeast (X)

(2) (a) China, Japan, North Korea (X)

(3) (b) East Sea (X)

(4) (b) North Korea (X)

(5) (b) Because they share many words of Chinese origin (X)
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Exercise 9
() | Ada el =3 A Aol
2) | gl )
(3) | @Al

4 | =73 HAlob7} 9l
(5) | Falvictolt.
(6) | Aolth

-
[v]
(7]
(7]
=]
=
N

poINpow

(7) | 'F8e] ol
(8) | *akeldt.

(9) | =] Frol
(10) | = 3ke] Al rof] 9ot

Grammar Exercise 1

1. (Answer): L& H]7} QX ¢k7llo] Q2

2. (Answer): 18 &3 501 7]Fo] L} X
3. (Answer): A9 QF H o w7} 213 X
4. (Answer): 3-8 943 3
5. (Answer): @A 7} -4 & Ho] W3] X
6. (Answer): &% dojir] of ko]

7. (Answer): 5ol vty Y7} o] wo] vx] 2l
8. (Answer): S
9. (Answer): A1 E EolW o] 2H] o] 82
10. (Answer): &5 = }‘?i 7o) EolA A FA o 82

o
~

o2

) “:8

N, 3 g
o Q@ ¥

¥
ko
~

Oft

ol
=
2
aiid
o
it
§2 1 &2
&

)

-
-
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A
&8
55 o
2
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~
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n:&
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N
~ —
K
>
N
5o 2
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2
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Grammar Exercise 2

1. (Answer): J T FFE 2 ST oY 2} &5 = Z s}

2. (Answer): A] &2 glk=o] 1 7 2 =AY B(eh ol e I

3. (Answer): J)f—rw_ FAA Y B obH gt b o] A A A o]t
4. (Answer): 252 H 7} & B (Wh ofy g} vl = F o

5. (Answer): B &= vlg-o] 23 (Th oj g} == AT

6. (Answer): 7] F-& Stulol| A 77k (RE) ofy g} nl3] o A &= 7Rt
7. (Answer): ©}2] & Url_ AZZHE(TH ol gt | 7| &= gk
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Grammar Exercise 3

7
2}
e}
e}
A
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Ao
Rt R

Oxl-o

< N
9 c
5 O
s Q9
=]
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*—ow\499+wnwr

Vocabulary Exercise 1

() =784
2 ST
Q) YE/TE
(4) 1;]_01 1:!] Z
(%) Zﬁﬂ}t.
(6) =A].
(7 24
(8) oFA] o}
(9) F3liet
(10) o]
(1) 54|
(12) a1

Vocabulary Exercise 2

(1) 55
@ sltel
() Aot
) 27

(5) e
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Lesson2
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Application Activity 1

)

Korean SOLT 1

I
Iy AN Ec T oA
m“_L 0| g | mr T ﬂw ﬂw Pk \
3 || o | %o RO o | | R0 0
Nl o o | 0 or Tor | e Vﬂ \
\ » _ ] [ ] { ] [ ] [ ]
|| T I I R I A | H H
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Q)
(H A= X (7) & .
Q) 4% I ) Rl = -
3¢
g % 3) A5 9 X
4) A X (109
(5) 214 X angT X
(6) X3 (12) F-At X
Application Activity 2
2
True False
(1) X
2 | X
(3) X
4 | X
(5) | X
(6) X

INSTRUCTOR COPY 12
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Application Activity 3

(D
Q) M 4) o (7) 2
(2) I (5) Ko
3) A (6) Ak

2)

-
(0]
(7]
(7]
o
=
N

voINPON

S
3

Bl ]

Application Activity 4
(D
True | False

@) X

@] X

A X

4 X

& X
3)
Rt Abdo] vt R Zeiste] dfalge] TEEo] . Aatel=
AHFoNA Foo HEALE e FHE Adutse] @Wel i & FHEY
Mt A 5 eSS AU Mdewe] Fakal By 5 7S AR defot
Aol E Felshs Ax=te FEEof olrh. E Rl Aol 2 0 ATtet
AR =M 7742 A sl @] 57} QoA HE S Ela R o= At 4= glr}
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Application Activity 5

(1) (Answer): True
(2) (Answer): True
(3) (Answer): False
(4) (Answer): False

< N
oc
5 O
s Q9
=]
=

Skill Enhancement Activity 1

(1) (Answer): T4 F%
(2) (Answer): AAE =
(3) (Answer): 4 5%
(4) (Answer): 4 7] %=

(5) (Answer): AT %=

(6) (Answer): 2 2=
(7) (Answer): 741 %=

(8) (Answer): 4745 %=
(9) (Answer): A2} =

=R E==
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Skill Enhancement Activity 2

(1) (Answer): o}5 7§ 2] L=7} QL5 H T
(2) (Answer): 5 -3} 3ol = SHEAZE @ 704 Qls Ut Heke) S¥AI=
g Fola, @eke] A= A Ytk

(3) (Answer): 2 3ol = 2 8 7} 9 a1, Wbl = 9 A 7} gl o)

(4) (Answer): 5 3+2] === HoFol o, Hile] =AYyttt 5 B

(5) (Answer): 941 7] €] eI x] 7} gl o). 2 E
=)
N A

Homework 1

(Recorded text)
N, A7, AR, 5
%

s 1o
1= et =
BEEE A,

).
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Homework 2

of
o,
A
ki

(1) (Answer): &+

5]
(2) (Answer): 9%
(3) (Answer): H HE =
(4) (Answer): A7

3 %‘ (5) (Answer): &35 %=

§ 2 (6) (Answer): ‘fowc}_z

= J (7) (Answer): 37 @&
(8) (Answer): &3l '3 =
(9) (Answer): 3 S =

Homework 3

(1) (Answer): SHRFE O] FZrof = Fal| 7} QL oL A &Kol = el 7} 5yt

(2) (Answer): SHRFEO| A AU 52 4HE] o] 52 W FAko| | H-gho] gH 5 e
UFH .

(3) (Answer): SHRFE O] H-260- QFE 7 9} F=ub7y-S Alol o] Al T ) gl Al o} &}
BAE o] FaL 5y

(4) (Answer): SHRFL O] ol = W3l 7} Al 5 o

(5) (Answer): A9 THS 3 2% 2 dd U

(6) (Answer): H&Foll = o A170 & F A 7F =, 1 FSF AL, e F A,
LA, BF A, TRl A, Aol A o)

Homework 4

True | False
1) X
(2) X
3) X
4) X
(5) X
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Homework 5

Floth. H@7e 4

T

A5ga A7) ATtk A4PL AR ol Aol HAY= HE AF
do AEgun 24 (th d5ge s aw A87s Ak )
W5G L obEo] &, o] it 9 AFGL obEW B2 AFYnr} ofelr}
S|
4

[e)

[e} e
siub (Ath. A= °§~ A Jo] oJrfolar, HEA7| =
TFU2 A9 YRy (A, A9 A2 il 9o H3Hs =
3290-0057 o]t} H A 7] 9] 242 A2 aibtﬂ, 23 5 7} 869-5312 2 W 9]
27 Ay AdHs R s (4 Aol Q= LAk

Mgl (L) Ao T,

1
U
>

-
(0]
(7]
(7]
o
3
N

voINpon

ﬂ-@r
juhi
iy
of -
10

Homework 7

(Recorded text)
A: FUH, @ Fintolo] g,
B: ul, A% © ginkolo] £ olt] Th @ 4]
A:dl. o8 T gkel &
B: o]t] 8.2
Az gafol Sl Al 2 Aol o Fabell A AlF74A] vl 7] & EFaL 714

el

d = o
HATAA AT T zhol . WS U obB e, A7k o) A

4T ol 2

(1) (Answer): AT

(Recorded text)
Aro] - w29 ol
B: v, ¥30] o} Higlo] 2.
A A ebabo] 9l e ol FRE QA A
B: v, 3HA Wk F AL B @o] 931 obte it Kol 9148
AERE FAW, LFS TR BFS T 5 Agol
B: vl Soba. @ 7hua v e

(2) (Answer): dH =
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Homework 8

(D
| (b) | The attitude change of Chinese-Korean adolescents towards their future. | X |

(2) What percentage of Chinese-Korean high school students go to Korean college?

Y [@]7% [X ]
32
=2 N6
(@) Because of the economic development of Korea, the job opportunities X
have been increased.
“)
© There are 4 middle and high schools and they are located in 4] &, -4}, X
21, and O .
(5) Presently, how many generations of Chinese-Korean people are there in Korea?
| (b) | There are four generations of Chinese-Korean people living in Korea. | X |
(©)
| (a) | Positive. X |

Homework 9

(Recorded text)

625 AA W o TS sy Al o] HeEe], ueole
59 Ayt Axe Fell= XLl BoluA 625 wi7kAl A 7IA
ASIEUT,  FSe ohiA weld, ofsy d§e slolol e e
AL & B, FEA] s JD Ao 7t Ay qro F
3 9o]w, REH M FEAS A wth @ 4 AEUch 625 1)
g o Ul etk /15t sl A o AREE obiI AL el

= Aol A el AL

(1) (Answer): 6.25 o S| A% 7458 ztogfal FaE S5
(2) (Answer): o} A|, o W, A FE A, ol A B oAl Y T

(3) (Answer): 58 Al 4 Y t}.
(4) (Answer): 38l = 2+ Y}
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Module 4 Lesson 3

Lesson Scenario 1 - Direction

Smith: Which would be the fastest way from Yong-san to Kyobo bookstore?
Min: It depends on traffic conditions. If traffic is heavy, the subway is the fastest,
if not, taking a cab is the fastest way.

Smith: If I take the subway, where should I get on and off?

Min: First, go to Yong-san Station and take the Route 1 Subway. The first stop
will be Nam-young Station and the second stop will be Seoul Station. You need
to get off at the third stop, which is City Hall Station.

Smith: After getting off at City Hall Station, which direction should I take?
Min: You will have to go northeast, since you will be headed in the direction of
Duksoo Palace.

Smith: Is Kyobo bookstore easy to find?

Min: Yes, go about 500 meters northeast, diagonally across the main street, and
Kyobo bookstore is in the basement of the building.

Smith: How long will it take to get from here to Kyobo bookstore?

Min: It is three subway stations away from here. So, it will take ten minutes by
subway, and about 20 minutes if you walk.

-
o
]
7]
o
=3
W

voINnpon

Scenariol Exercise
1.b
2.b
Lesson Scenario 2 - Location

Sam : Excuse me. Which way is it to the Seoul Arts Center?

Woman : Well, this is also my first time here, so I’m not really sure.
Please try asking at that store over there.

& % %

Sam : Where is the Seoul Arts Center?

Man : North. Go straight along this street and use the underpass to cross the road.
Sam : Will it take a long time?

Man : You will see the building if you walk for about 15 minutes.

Sam : Thank you.

Scenario2 Exercise

l.c
2.a

INSTRUCTOR COPY 19
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Exercise 1
(1) (Answer): BA4/4 5, BE/ 52 A, HEE
@) 1) (Answer): G5 G 0] oft] YHU7 FE%o] &t
2) (Answer): AL =7F ot QL5 U 7H A el Q15 T
3) (Answer): 8-4H-A 0] ot 91517t H 5% 5 U
4) (Answer): nLH =317} o U] Q15U 7 H A Zol 5t

Exercise 3

(Hh3Fo2 &g 7HA 8.

Q) 1Zo=2 Yy 7ML,
3) B 7t=24 /Y 7HA 8.
4 1AES A 7S
5)A %S =k 7H S
6) 7S A 744 L.

(7) 27N E "ol 7FA 8.

(8) 45 e} 714 Q.

(9) Sko & 7HA Q.

(10) H = 7HAl 8.

(1D o A= - 7k L.
(12) &5 A a&a) 7HA 8.

T m
0 c
5 O
3 a
Ty
(=}
= d

Exercise 8
(1) (d)
(2) (d)
(3) (@
4) (d)

Exercise 10
(1) (Answer): Al o] ZRIE| i A
(2) (Answer): < &] =0
(3) (Answer): HH] A2kt d
(4) (Answer): 77425 €

Grammar Exercise 1
(1) (Answer): -7 G A7 vt} A}
(2) (Answer): A== S =BT QI 7} W
(3) (Answer): 47| = & F-AFR T} 2pEFe] =7} E
(4) (Answer): 971 = Bl E Rt} =g & 2si)
(5) (Answer): Lexus = Camry Xt} H| %t}
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Grammar Exercise 2

(1) (Answer): W 5FAko] HF = o] A A Y =)
(2) (Answer): & 7dAko] A Ao A A Y o} 5

(3) (Answer): OECD = 7} Tol| A gh=52] QI"H =7} Al 5}
(4) (Answer): $F= 9] TA] Foll A A 2o alEE 3ol Al Al skt
(5) (Answer): A}7] Shigoll A Xl o) 7F 55 Al 2 &
Vocabulary Exercise 1
(1) sdlel e =40l 7HA AZBES W v
(2) Aol A WA T 72 A8 -z
(3) A8 e BE A st dFUT a2
(@) THA ROl A AAbshE o] Eol | Ft), 2%
5) ol ARE ww A} dui} HE4 & 5 gy "
(6) Al 7t 2 ES B F dF U
(7) €A =& AbeEol 7l sy,
(8) &k A7 A v A 3o
(9) W2 Fu3s W= 5ol g 3ol JAF Y
(10) Ak of 2 & W& 3t}
Application Activity 7
245 up#}A (along) 7HA L. HZ2E AY (across) 7FA L.

S35 E3A4 (through) 7FAl 8. 3] E A L}A (through) 7FA 4.
S5 =°A (around) 7HA 8. & H o (over) 7HA 8.

AhE 2t (up) 7HA 8. A WE (down) 7HA &

Application Activity 8

(1) 78171 %9 Bl A A s e § 9hekr) & lokhE o) o] Q).
2) 87155952 & Ao A st etug e Bxow
() AES A} HaEo 2 A% 7w wA R g ok,

(4) A BN etL o] whujste] B &0 gl T,

(5) Bl &5 Eelol = A% sha) o s ste] gy,

(6) 3HA1 3 ¢ gotu|st upx olo] gl T,

() AP el stol 7hel vl A Rhol A A% 0 & Fhof FT),

(8) tleh e AR Ao Ay

9) 3715 AFR s 37 520 HESC] SlHUY

(10) 31 7| SAVR- 220 4 = 98t7] & Sloh sk B ol 7w 3715 4-S melsjr s
(11) 1o} FEGI A 2.0 37| 5745 29 AAE A %02 Eolrb
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T m
0 c
5 O
3 a
Ty
(=}
= d

Application Activity 9

E FREde] e 3
g whiv, o 2% 07 7ol
BRE vy g%o 7 B
] ] —%amu} %leﬂ | @E Ay

7 A de e EEAaA dolt) §-g
ARV JI HAHO R o &
37 = 1E ‘é’%&_‘li et
ol w25 wef HEsFHow 2 7
So) A2 me} A O 2 500w

=
N
)
R

Application Activity 10

:ﬁ

00 HE Woj o

FE7F AA e 3R B A Skt BEAFKo R
= s&Ho® 100 VH A=

mels stel 4 FLY ol olne

i3
_OL
°Q
C
f
}%m

e Wl Ak e AU 7D we 0w 200 W b
OE&Oiwsg—ﬂo] RSIEL AR B E L2 Ao Y HFo s
A 25 e} Qo). Lo % A% A A5 AT Pt BR S W o
b 2 ol A A7 6 ohe e S ] e,

olty. HEAFKo= Uy YA LEFHoE  ZtEHY StuFHo=

Application Activity 13

(1) (Answer): SHeFo al wHA) 2ol Q15 T

(2) (Answer): SHe S EA &l l5H T

(3) (Answer): SHtal FsZ AU H )5 T

(4) (Answer): 2144 & 55501] AEYT

(5) (Answer): 478 FoNA FEHE AY AFHTH
(6) (Answer): SHe T 3L 35250l QL5 Ut

(7) (Answer): ST 2l 54 2ol Q15 T

(8) (Answer): SHH W E 71 HA|H 02 ),

(9) (Answer): WU E Y FAFHO = 7t}

(10) (Answer): Z 715t 2] JHA &l Q54T
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Homework 5

2ol e, WA A FRolA Welok Fuch 1 W EFFE oA
FEAT dow ¢ A8 wel ¥mom 200 vy LA HAARE A
A% o2 byl A% g WA gol ¢ AUk $UY DA A%L
HE NS 28 AEo] neyu.

(1) (Answer): False
(2) (Answer): True
(3) (Answer): True
(4) (Answer): True

-
o
]
7]
o
=3
W

Homework 6

voINnpon

(1) o] opel 2= 7o) =21 9l

(2) e == Ap7h el W syt

(3) A5 Froj AN, A S ol 7 wiehrh B Ay e

(4) oFell= ko] §laL, A& 197 vheo] gl

S) Er=dde=YEdA SAAE] JdFYH

(6) N&& met e 7ha 247k e an, 227 Aol vy e
(7) A o =wo] 9lal ] HEo e Ato] 9l

(8) LEHOE 7P Fojrb e i, 2150 2 7k vhEo] U4 H.
(9) do] Baly, th2 A2 Solrte Flo] EAF YT

(10) 1L3] SFoll A WFA il w35 v} 100 VH A= § 7Fof .

Homework 7

(1) (Answer): True
(2) (Answer): True
(3) (Answer): True
(4) (Answer): False
(5) (Answer): False
(6) (Answer): False
(7) (Answer): False
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Homework 8

(1) True
(2) False
(3) True
(4) True
(5) False

Homework 9

AL A A 2 5% HE5&ow S & 03] 7 o=

Homework 10

(HZEoz L7}
(2) 149 7t

3) sl dA 7t

(4) T

(5) Hel7k

T m
0 c
5 0
3 a
Ty
(=}
= d

Homework 11

(1) (Answer): True
(2) (Answer): True
(3) (Answer): True
(4) (Answer): False
(5) (Answer): True

Homework 12

(D) A kol HY T 3| &2 vl= Hoj&= AdEd YT
(Answer): AT

(2) Y& At A HEo R Atk dS AU A 38313 e A uHA

10078 % ¢ 7FA e &5 &= d=J Y

(Answer) R i |

(3) s x5 u A% Sls5 ‘:} N2 ol M I of= 74k U
(Answer): 7}3] 5/\}

H ALY HeHoR EO]'E sAJH
(Answer): &E &

(5) AA 7PN o= 100 v E H = 3o Gt
(Answer): A &% 1L 3]
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Module 4 Lesson 4

Lesson Scenario — Point of contact

Kang: Mr. Kyongho Kim, what was your military branch?

Kim: I was a signalman. I was in charge of controlling cable facilities and a radar
installation. How about you, Mr. Taesu Kang?

Kang: I was in chemical.

Kim: What did you do?

Kang: We laid smoke screens, neutralized poisonous substances, monitored and surveyed
the surrounding environment.

Cha: Mr. Jiwon Min, I heard your branch was air defense. What was your job?

Min: I operated Vulcan 20 mm cannons and surface-to-air missiles. What did you do,
Mr. Yongtae Cha?

Cha: I was a combat engineer. We did a lot of work such as detecting and laying mines,
causing explosions, field construction, plumbing, supporting boiler facilities, providing
water, and operating fording and construction vehicles.

-
[v]
(7]
7]
o
3
H

yoINpow

Scenario Exercise

l.a
2.b.

Exercise 1

(1) (¢) 7549 (X)
2) (d) 3 (X)

(3) (d) FHBAHX)
4) (a) 7HFAF (X)
(5) (b) SAAF(X)
(6) (d) ©17 (X)

Exercise 2
A= A 15 A
AR5 Bk ok 22
%54 A= SIS 24
32 =4}
HEH 3 g o
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Exercise 6

A o 1ApG
7 . AHEA
qdEd 8 o 27/te
34 o dfT
o)A . o« A}
48 e o« T
Exercise 7

(1) (0) 18 (X)
() (d) 9 (X)
(3) () 228 (X)
) (b) T& (X)
(5) () &A1 (X)

<
2%
E]
T @
=}
=

Application Activity 1
(b) 71 A5} 8Fal (X)

Application Activity 2
(a) 21 SHal (X)

Application Activity 3
(c) &% Sl (X)

Application Activity 4
(a) ] 3L (X)

Application Activity 5
(a) & SHal (X)
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Application Activity 6
o 1A% Rl o, e, a2y,
- [ ] [ ] - -

’ B A9 8719, 2% 35 ) = A,
e FARA), F3, =5k (F AU, A E AAA
21 ° °

g \ / A7 2] 4771 k.

AREA s b S A, 3 S 9FE £

ALPHA (ALFA), BRAVO, CHARLIE , DELTA,
ECHO, FOXTROT, GOLF, HOTEL , INDIA,
JULIETT, KIRO, LIMA, MIKE, NOVEMBER,
He o . o  OSCAR, PAPA, QUEBEC, ROMEO, SIERRA,
TANGO, UNIFORM, VICTOR, WHISKEY, X-
RAY, YANKEE, ZULU ¢] "< & &} 3£ (Phonetic
Code)E A& 3t}

-
(0]
]
7]
=]
3
H

voINpon

AL FET) 9 AT FET]7F o, Aol =

%Hg o o _ ~ 9 -
2 #E R A% 54 5o o ne dvk
Application Activity 7
(D) =&
@) ¢34 A FEE SR
(3)
4)
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Application Activity 8

S A AT (). ol did) o el A 3 U2 o 9
AZS FAEHAY. Uk o] 5H, o FHE o5, 92 9=

T 15 (), I o @ (). $-27F aFEAA AYA FEI S
w](R) 2 ol = & skl Al whefuh A A vhek A X A s (D).
WA =5 W A a(E) U 3 AI7EA] FH A SR, e RS
AL3(9]) T G 3 A 7FA] g2l e} o] HAH (9], -2l LA 3 A 7HA|
FE DY), M PSS FFoy(9]) Yol = FbAta EolrfyHA
b 2ol W S (9). ¥ A w7hx] a S AlgE] =l (),
M g ol 7] dof Fathu Bj X sh=Abgho] §la(9). 9 W oy
SH-8F A 7Fo] F YA R, 7= ol wj e U Etol A A u
N9, A&, 3= AA L vutrlolA 30 M€ FoF HA
Agete 21 AA9]). ot #BaHA 2 e AHg, olY A3 K o A%

A QA WA GRS A A,

3% : .
S0 Skill Enhancement Activity 1
= B Section

(b | st (5)

h | &TH 2)

(th | =% 1)

@[ @

chlEd [0

eh[d3 @

C Section

(a) | &H

(b) | &%

() | 4

(d) | 33t

(e) | &4

M |3
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Homework 1

(1) (c) USFK (X)
(2) (b) A (X)
(3) (a) ¥l (X)
4) (c) 2174 (X)

Homework 2

(1) (Answer): X1
(2) (Answer): &1
(3) (Answer): &4
(4) (Answer): &1
(5) (Answer): 4 K.
(6) (Answer): &3
(7) (Answer): -
(8) (Answer): 3}3}

-
2o
-1
Homework 3 3
3o
55
AR | o AE
A5S | 3o 2% a9l
o s 8 o
FEE &l v o
A& HA

Homework 4

(1) (@) T& (X)
) (d) 97 (X)
(3) (b) 2% (X)
) () £ (X)
(5) () B8 (X)
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Homework 5

. Ry
A ey
%4 me
T o1 B
%%Mw%%
X HO o o8 O A
@ﬂﬂﬁoﬁodﬂﬂnﬁ
=2 W o T g
W kN
<D e TR

olJ o} o)) olJ o] o}
KO KO KO KO KO KO
O O HC O O HO
RN o} T B
o A B3 o R/ o
of NI W N

— & en o

"o "o
fisg o =) O
g A~ B Ho

,WO
ol
o}

7
= T

o N
T e K- <
E wjr of v

M
Ho

- T o R
< N o’ w5

pA e |

voINPON

Homework 6

(D) (¢) LAHFA = (X)
(2) (a) BF-& 3 (X)
(3) (b) T (X)
@) (d) A g4k (X)

30
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Module 4 Lesson 5

Lesson Scenario 1 — Target Region

Min: What route should we take in order to get to the target destination?

Smith: After going east from the present location for 500 meters, we will have to head
north along Route 5.

Min: Do we have to keep heading north?

Smith: After going for about 5 kilometers north on Route 5, we need to go two kilometers
east along Route 32.

Min: Is our target destination located along the roadside?

Smith: No. If we look north of the destination, we see Peak 325. We assemble at the
reservoir in front of that peak.

Min: How far is it from the route to the reservoir?

Smith: About 200 meters.

Min: What can be found on the way to the reservoir?

Smith: A farmhouse and an orchard. There are rice paddies around the reservoir.

Scenariol Exercise

l.c

2.¢
-
b3
0w g
(7]
oL
a2

Exercise 2

(1) (Answer): =35 7F= 22 ks 774 % S 2351 Q)

(2) (Answer): 2FO 2 Eexto] Qo G o= 7hH Ho = uhs Qi)
(3) (Answer): 7} 2] = A WF S} 7} 7 4 4] &

(4) (Answer): I 2 5-E] A 50] I F& 7Hs A o] =& tolth

(5) (Answer): = 119 7 = Frd g ot}

(6) (Answer): AF}F Ak ALolel] Bl Al H A4 Q)

(7) (Answer): U5 0] o} A A2} 3L

(8) (Answer): ¥ o] d7]ol = U5 & 7ll=olt}.
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Lesson Scenario 2 — Map reading

Kim : Where is the place for defense exercise?

Lee : 785 hill, CS 314678, 12 Km from here.

There is a Hyochon village with about 100 houses beside it.

Kim : Give me the 1/5000 scale map!

Lee : Yes, sir! Here you are.

Kim : 785 hill is the highest and steepest incline on the map.

Lee : Yes.

Kim : We have the advantage for running an armor operation there, because there are a lot of
paddies and fields. However, we have the disadvantage of moving when we are in defense.
There will be thick fog in the morning, because there is a reservoir near the village.

Lee : I agree.

Kim : 785 hill is advantageous for use as an observation post,
but it will be a key terrain feature for the enemy.

Lee : Yes.

Kim : I"d like to install the anti-armor mine fields following 48 road,
which runs north to south by 785 hill.

Lee : 48 road is narrow and two way. It also has a speed limit of 50 km.

Kim : We have to careful when we are moving.

Scenario2 Exercise
l.a
2.b

Exercise 4
(1) (Answer): False
(2) (Answer): False
(3) (Answer): False
(4) (Answer): False

< 1n
0 c
S5 O
3 a
Ty
(=}
= d

Exercise 5
BRAR BA% Qi thel s (Fo] Fol/olsk U el kel A) AFE 1Y 7t

Atk AN AFEL th (o} /9] =) o] Fatan we vk (o} 2/9] =) A,

Exercise 7
(D Ao A vk (X) /7 A
(2) Aol Evh (X) /e,
(3) 1A o] =& (X) A5 <7t B
(4) 7idko] A9 ¢k Hof vk (X) /33 <t =of .
(5) =2 2 4 Aot (X) /A= 2 5 gt
(6) BAH7E 7Fok 2t (X) /hRtsit
(7) &=o] Zvk (X) /&
(8) =4to] w2t} (X) /=4toe] =gt
(9) st Fo] Ho/Fr (X).
(10) =27} (Fo]) Yo/Fo (X).
(11) Ate] o/t (X).
(12) "MF2kolt}/<zo] &3 atth (X).

INSTRUCTOR COPY 32



Korean SOLT I TG SCRIPTS

Vocabulary Exercise 1

() A S FHste] Sebd wol= & 27F oA A whd o]t}

(2) FH ol A Aol Aok A A 7] ke vES 7

(3) =27} 7o) ¢k ¥o] qloj A FA &EEE sl

(4) &A= Gy stEate AE R 1 A S delA = hE T

(5) T2 AE7F 2L NS AAANA w2 Ao Mot}

(6) At vl E Al sl Fg=d o] o] A el wol 9l

(7) ZRke] U9 n)7h Ao Foj A o] FA] BlI1g )

(8) A& weh v gl R2E %2 Aoy A3 A] Al of gkt

(9) A5 S0 Aol = FoWthe 1 A7)0 Aol 9l

(10) =& qko] SR o] B -8 A oaL glof o 4 o= Hopr} At

Application Activity 1

(1) (Answer): 2| & Ao 24d& & 5 )
(2) (Answer): 719 7}7]7F o} H o},

(3) (Answer): ¥ & 9] o]-gol| He| st}
(4) (Answer): A7 -5 ¥ Ho] Zo] &
(5) (Answer): 5=H] 3} 7] 7} A sh o},

(6) (Answer): o} 8] 125 =4 5= Ath/A o] 2 S getetr| 7h o Hot
(7) (Answer): 2} €] o]-go] o] g},

(8) (Answer): Aol Al Y127} == 7] vt

(9) (Answer): 4 ¢] 2] = wetatr|7F oy Jrp/ Aol Al A7) =F 5 7] AT
(10) (Answer): “gH] &] o] o] 3 Er}.

(11) (Answer): ¥ 2l o] o] 53}7] 3 &1}

fa.

-
(0]
]
(7]
o
=3
ul

voINnpon

Application Activity 4

(1) =78 A& e moll= TP Ao (BrhX)/A .

(2 EYe a&ER | Ao 9E F (JTHIITHX).
(3) 3o L&' FA Aol = A Fo] (UTHX)/RLEh.
(4) Fre] BEE R A E AL 80 A& o] A & = (I THX)/SLth.

>

(5) =] &L R E F-& o] (WrkX)/ A .
(6) =] AEHEER = o] §F5E (HTKX)/ oF AT},

Application Activity 6
(1) (Answer): True

(2) (Answer): False
(3) (Answer): False
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Application Activity 9

(Answer) £ =, 4> Y, 4> 2

2

Homework 1

(1) (Answer): A
(2) (Answer): B
(3) (Answer): C
(4) (Answer): D
(5) (Answer): E

Homework 2

() A7+ FF o] oA = 3 YUtk 2484 S48k 2
(Answer): A4 ==
(2) b= Zo] FolA Al HU . ool &= A5 24l &

(Answer): =2 0] F o4
(3) Aol AbA R A7 R Y 7h(Answer): +44 3 2} &

ol
rr

(4) YA Aarsto] Holal, E & A9
=o] A Q.
(Answer): = 2 3 A%
(5) A A9 A& WH7H gyt S25 FolAl8.
(Answer): W] 2] =4 A}
(6) 27Fv 1Y E 5 Jo8. FE5 Ui 7l s Hdol A5 e
SIS
(Answer): | 7112 ==
() =E2Wol &5 ETHYL old &= £ =& Fol= A o]
(Answer): ‘= HIL 2
(8) gt Ho = HHY oo o] 2 ER2 LT}
(Answer): 74 =

be At

pi

=0l AFHTL S5

< 1n
0 c
5 0
3 a
Ty
(=}
= d

o
o)

Y},

Homework 3

(1) (Answer): True
(2) (Answer): True
(3) (Answer) : False
(4) (Answer): False
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Homework 4

(1) (Answer): &% &5 3}C}.

(2) (Answer): ‘=1 0] B 11T},

(3) (Answer): =R o] d5-0] Lo 9}

(4) (Answer): 4ol =o] #of 3]

(5) (Answer): =l A 2

(6) (Answer): ;=20 &o] F-14 4 (%) 2L

(7) (Answer): E7&0] Q& o] Ity/H] L7 = 2 o]t}
(8) (Answer): A10] Z10] 2] Q) A] ¢t}

(9) (Answer): = 30| 4l 3}t},

(10) (Answer): A7} 58t eh/ 4l 8o,

Homework 5

(1) (Answer): True
(2) (Answer): False
(3) (Answer): False
(4) (Answer): True

Homework 6

() HEAR FeH o 1 A2 A4l 9= A 2A FApa} 4 5 of
AEU

(2) 53 A 3 A A
ek A& S
(3) HIEAF A H 1
@) dFusEzolA 47t
() MAAFA HE% 15 AR == 3ol Qe FFYUS

o

-
(0]
]
(7]
o
=3
ul

voINnpon

og3ZgnE "oz Hof| Q= =2 E2A 3}
(e}

(1) (Answer): W 1l A} <=4
(2) (Answer): 4 Y&
(3) (Answer): tHIA}

(4) (Answer): 75 ol 1L

(5) (Answer): XA &l v &
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Homework 8

(1) A Q= AHo)x Hzoz | ARuE olEdt) 3 ¥ a2 vhipy
ERE e BEo g 0 UR o] FHh 2 R E T d%o s Bgs
Eo] &0 T 37 o] Ea). WS by AU A %o 2 500 v E o 7F
ol A Az

550 A= FHel FEAS Hobg etk 2 5 9ol dde] Frh
FoiH o Fe RolofA Ao gAY BSI)o FE W o
A% A 2E AT s el Ak

Homework 10

(1) (Answer): 35> 71550 kol Y5 ol glo]
(2) (Answer): 51 2] A1 T} 520} A]

(3) (Answer): =2 o] A 2] Wolx] glo] ol =
(4) (Answer): %3t < o

(5) (Answer): g AL7F U - 58}

(6) (Answer):™ & &<t H| 7} o] o} A

(7) (Answer): K. 3} 2} &Fo] 7] o] &a 7] ol =

< 1n
0 c
S5 O
3 a
Ty
(=}
= d

Homework 11

(1) (Answer): F & 72 =&
(2) (Answer): F 4 FEZ

(3) (Answer): S22 §lo]
(4) (Answer): -5 5 &Y

(5) (Answer): —,—Jri ol we &
(6) (Answer): §-5 2= gl H
(7) (Answer): -7 =2

(8) (Answer): A} 7]

==
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Module 4 Lesson 6

Lesson Scenario 1 — Climate in general

Smith: It is really hot and humid. Is it like this all throughout the summer?

Min: No, that is not the case. As the rainy season sets in at the end of June, it becomes very
humid. Even when the rain stops and the sun shines through, it is still muggy outside. It
remains hot like this for about two months, beginning in late June.

Smith: Then, will the heat lessen a little in August?

Min: Yes, in early August, it becomes cool in the morning and evening.

Smith: That’s good. If it were hot like this throughout the summer, no one could survive.
Min: You’re right. We sweat a lot and laundry does not dry well because of the humidity.
Smith: I am looking forward to autumn in Korea.

Min: Wait one more month. How about going to the mountains or shore to enjoy the rest
of the summer?

Scenariol Exercise

lLedT
Exercise 1

(1) <Ed75 . e moderate climate

2 =¥ . e subtropical climate
B3

_ . v a

3) otdur|% . e desert climate oE
al

4 o7+ . e tropical rain-forest climate

B AHHE7IE . e tropical climate

6) <UFTH7IF . e frigid climate

7 AT 7IF . e Mediterranean climate
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Lesson Scenario 2 — Different seasons

Spring is warm. Various kinds of flowers bloom.
Children run and play outside.
The cat dozes off on the floor.

Summer is hot. Leaves are green.
People go to the mountains or to the beach.
The dog takes a nap in the shade.

In the autumn, leaves fall.
Young people walk on the fallen leaves.
Insects make sounds at night.

In the winter, white snow falls.
Children make snowmen.
Grandmothers cannot sleep.

Scenario2 Exercise
1.b
2.b

Lesson Scenario 3 — Weather forecast

Kim: The weather’s quite nice from the weather forecast.
Jackson: Yes, it’s very warm.

Kim: Soon the flowers will bloom.

Jackson: It’s already March, so they should bloom soon.
Kim: Which seasons do you like, Mr. Jackson?

Jackson: I like winter the most, because it snows.

Kim: It snows a lot in Korea. How about in your hometown?
Jackson: It’s windy and very cold.

<
32
EX
7}
=}
=

Scenario3 Exercise
L 2# 7} Euh

Exercise 4

(1) (Answer): 5=3}t}

(2) (Answer): I+¥-8} U}, - 2] L&t}
(3) (Answer): |t}

(4) (Answer): 1A 8}t}, A =3}

(5) (Answer): Al Y3t} A =3ttt

(6) (Answer): A] &5 t}, 23|}

(7) (Answer): % T}

(8) (Answer): 23t}
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(1) 259715 oy osei
(D“mﬂitﬁi&ﬂ

(3) A7) T = oA 2ol o A 251
4) A7 S = A 2eE o A 2t

(5) 371 5= Fo

6) =7 F = FAE QA= 2}

(7) otd 71 ¥ Hrb R rhEsttt

Exercise 6
(1) (Answer): =7 5&+= A 7|31} &
(2) (Answer): @ 7] 3= 7| S E g}
(3) (Answer): = 7] %= $Hof) 7] 5 .t} =)o)
(4) (Answer): S+t 7| &= 7] W} &
Exercise 7
(D) H] 7} Eo] &H A=o] Eofdyth

(2) AEo] Hojuy =uk X 71Eo] Eof 3]y}
(3) S5 o] B Algho] AW S ol&H T

4) T2 B2 Aol ALks Gy

(5) gr=oll = sl mbrt S 7F F Yt
Exercise 8
() RI7F 8 oA &

(@) () ":é‘
(2) 7H=ol 8 9 54 =0] B
(3) FHELS = 25 Uy
4) EAAMEES =2 o
G)AHEES 7 7 E

Exercise 9
(1) (Answer): False
(2) (Answer): True
(3) (Answer): True
(4) (Answer): False

-
(0]
(7]
(7]
o
3
(=]

voINpoOn

Exercise 12
-5 o}-4 (peach blossom)
(Answer): 5221

- 2 (magnolia) Z #(azalea)
(Answer): 2141 (Answer): #7121

k-2 (apricot blossom)

(Answer): 32}

1l 3} (plum blossom)
(Answer): 821

INSTRUCTOR COPY

7l }2] (bell flower)

(Answer): = g+21

2 (cherry blossom)
(Answer): 221
1 (azalea)

(Answer): 8- 21
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Exercise 13

(1) F 9] o8& 2ol 8, Ak, ol &, Rol B o2 b2 & dyth

Q) ool AE S A Wil abolu vk F71E wg o

(3) Zrba = vk A% el we 7k 2 ek g,

4 x°4 of = o} A Yo & = go] *4**6HX1LEEEH 287 sk Yo
(5) A F Y g5 Alololl= H| 7} ol 2= Fmbrt 5 U T

Exercise 15
(1) (Answer): 1] 7} 2.2} @4 (7}) v}&-9] %%éﬂ
(2) (Answer): 4 7} A7) =4 A4Y (7h &
(3) (Answer): H}gho] Wol -1 (7h) F-A & *ﬁ 7‘ o]
(4) (Answer): Fo] B4 (7h) #Zo] drt,
(5) (Answer): T-5°] +5 7]0] 9l oY (7h) 7]+to] &5ttt
(6) (Answer): 97} £okA| Y (7}) &ro] o A Y3}
(7) (Answer): 7Ha o] ALY (7h) vhg-o] Hd stk
(8) (Answer): BF2 A 7} Al H Y (7h) SAke etk 7har Al

P,

r?L

=N
A 7ko] £t

7_l
=q},

Exercise 16
(1) (Answer): False
(2) (Answer): False
(3) (Answer): True
(4) (Answer): False

Vocabulary Exercise 1
1. (Answer): (a)
2. (Answer): (a)
3. (Answer): (b)
4. (Answer): (d)

Application Activity 1
(1) @ e 7] 5l 3ok,
(2) A=
(3) 744l

<
32
EX
7}
=}
=

Application Activity 2
(1) (Answer): True
(2) (Answer): True
(3) (Answer): False
(4) (Answer): False

Application Activity 13
(Answers): (1), (2), (3), (4), (5)
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Application Activity 14

(1)(Answer): 3-=19] ol = F-5F ol WA Fo] Bo| &} vhgol| A =7 X =
sk mpagh 7] 0 2 o] 2 A & Sl

(2)(Answer): St 9] ol = vl B o H]| 7} A} 21}

(3) (Answer): Zhute], &2, B 5o FEo] Aha} Sof obEH A At

(4) (Answer): 3 ol A|2Fa}o] 5 o] A|1pH of Fo] H

=

Application Activity 15

(1) =9 7FS-2 F & st 715+ 28
(2) 9 Dol &= B Fo] Boj=1}.

(3) 7ol =4

(4) 7]0] oj A HA 1}
G AFES HZTS o}
(6) 11 o] =™ FI/tp ol o] Hojx| 7] A &g},

Homework 1

(1) Zut7k A=Y e 7h 2 Qb mpE v}

(2) &9 7P 0 % s=Hlero] th ZEhlt)

(3) &l & AL ok Ato] Zk bR QITH

@) Bl Z o] &1 2 Wlwkatu ol F2E0] 937} 4l st
(5) 47 UM =27F =l AT

(6) ic°] Wol o U Aot =27} FALE) 2 # A v

Homework 2

(1) 6 Yol W% A =5 o] 7 Uo] Eof virk, 1ejw Rl 917k A Ak, o]
713} Foll = 17} ol 2o,

@) 17k Aol ol ule] w=ire] Bl ek suh} o) wiel g Aol
Mg %3 B2k 9l A,

(3)8 Hol 4 9.9 Aol MAIRICY. 3 M ukFO 2 Q5] B 937} AT,
u o) ol W AshE A 57 eloleha gk,

(4) Bl vl 2 B}3 Eo) A Be WA 7k do} o Be 2 g E o] ol
Qo] A7} §7el) mIF £ e,

-
(0]
(7]
(7]
o
3
(=]

paInpow

(1) () FH(X)
(2) (a) &7 (X)
(3) (b) B-5(X)
(4) (a) FAHX)
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Homework 3
(1) (Answer): 1
(2) (Answer): 5
(3) (Answer): 6
(4) (Answer): 11
(5) (Answer): 7
(6) (Answer): 4
(7) (Answer): 9
(8) (Answer): 10
(9) (Answer): 14
(10) (Answer): 1

Homework 4

(1) (Answer): 3 €oll A 5 ¢
(2) (Answer): 5= 1} &
(3) (Answer): 37 2.2
(4) (Answer): 717

Homework 5

(1) Sl E50] Bol &tk Aat xakglo] gof X}, Farol A FA7E Eof 2t
Zro] @ol ¥ a1 ypiof] o] ol ) IA| 7} upiE st

(2) E=olE Bol g} Ayt &vh Auprl v B g9 A R o =R
Al A o]t

(3) 9] A-doltt, A7} dAE XY} shso] Thek Ao = ofFHT) xSt
Abell Yi-Eo] ©hgo] 5i 59 F24 50| =g ¢lofzit

(4) Al =mpart = Aol A7 o ol Welal Aol A HeF
A ZFo] AAHA ot

(1) (Answer): v+

(2) (Answer): & &

(3) (Answer): 7}

(4) (Answer): /=

<

e
5 O
s Q9
=]
=

Homework 6

(1) (b) ZAJANEF (X)

(2) (a) M= 82 (X)
(3) (d) T (X)

4) (d) =& A THX)

Homework 7

(1) (d) to clear the throat of any obstruction (e.g. vomit or tongue) and help him to vomit
water (X)

(2) (b) to check whether he is breathings or has a pulse (X)
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Module 4 Lesson 7

Lesson Scenario 1 — Means of Transportation

Smith: There are so many automobiles on the roads in Korea!

Min: Yes, the traffic is much heavier than in the USA.

Smith: It is true that the traffic is heavy in big cities in the USA. However, in
Korea, the traffic seems to be heavy wherever you go.

Min: It seems like the roads are getting narrower and narrower, since there is an
increasing amount of cars traveling on them.

Smith: By the way, there seem to be a lot of taxis and buses.

Min: You are right. In fact, Korea has a well-developed public transportation

system.

Smith: Is there any other public transportation system besides buses and taxis?

Min: We have subways and railroads. In big cities, subway systems are so well
developed that almost any place is accessible by subway.

Smith: If you take the subway, you won’t be late for your appointment because of
traffic congestion.

Min: Exactly. However, it is not easy to take the subway during rush hours.

Scenariol Exercise
1.b

2. W22, A, A8, A
Exercise 2

(1) (Answer): True

(2) (Answer): False

(3) (Answer): True
(4) (Answer): False

Exercise 6

-
(0]
(7]
(7]
o
=
N

(1) (Answer): 5.5 B A]
(2) (Answer): YHHH 2
(3) (Answer): A 3}

yoINpow
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Exercise 7

(1) (Answer): True
(2) (Answer): True
(3) (Answer): False
(4) (Answer): False

Lesson Scenario 2 — Rental cars

Kim: Let’s go to Mt. Sulack next week!

Lee: That sounds good.

Kim: There are 7 of us total, so it would be good to rent a spacious vehicle equipped for 9.

Lee: Yes, when you rent a car, you should always take it for a test drive to see how it
handles. It will also save us money to rent a vehicle that runs on diesel fuel.

Kim: OK, I will drive it. When I was in the Military Vehicle Maintenance Department, [
was a driver. So, I have experience driving large military sedans and jeeps.

Lee: How nice! We will pay for gas and rent, as well as prepare food.

Scenario2 Exercise
l.a
2. Kim

Exercise 8

(1) (Answer): False
(2) (Answer): True
(3) (Answer): True
(4) (Answer): False

Exercise 9

(1) () 2217171 AstaL 715 gkel A7 =t (X)

2) (b) TF2H(X)

(3) (c) B Absol & 5= 3tk (X)

(4) (d) A=R7F Bl 5L, o8 Aol & = flth(X)

TN
0 c
5 0
3 a
Ty
(=}
= d
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Exercise 10

(1)  air filter of &
(2)  air bag gl =dfol E
(3) transmission e ofj ol

(4) safety belt
(5) headlight
(6)  generator
(7)  radiator
(8)  mirror

(9) engine

e BT A
o Al #l e}

o ThA ol B}

e QbAME

o Apoj= Hijo]H
° Hl,hi’] FH

(10) parking brake o] o} A &
(11) accelerator Hlu}
(12) bumper :>< ohal

(13) steering wheel . o A=
(14) clutch ==

Exercise 13

(1) (Answer): ® =

(2) (Answer): &=}

(3) (Answer): (;7--8)A| X
(4) (Answer): (&) E €

Exercise 14

(HAx e

(2) B.g ol A gtolYd
(3) At

4) o2y

() HE

Exercise 15

-
(0]
]
(7]
o
=3
N

voINpon

(1) (b) 9 (X)
(2) (b) because it is cheap and can accommodate 12 passengers (X)
(3) (c) because he is not allowed to drive it with his license. (X)
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Vocabulary Exercise 1

5
©

d

1=
ol
d
It
(2
)
o
©
o
ol
rr
P
°
of
i)

r
o

(3) & ;ﬂvoﬂ
(4) Asr s XP%H 7éT°ﬂ—E
(5) 27t 2Fof 3k A 9ol = =
(6) THA= S &AR T AR Bol B2
(7) ==l 2= HMOk sk 73 9ol = <t
(8) =3k 2}o <zl A= ofF TS
O NZF uE TS Olﬁo}ﬂﬂ WA 2 S
(10) YA & Bb a5t 7be 7] 2 8 w8 T

() 4 FT5AFS Fo] Fol FetAbd S 7=t frel st

(12) 27} =moll A argud A E S %fﬂ ofF gt}

(13) 4 o] %7“0}04 74k A otshAl = qlzle] &3-S wol shA "t
(14) 2H& A9 =& wl= W= ihiaﬂ olAE IA TE

(15) ﬂéﬁ%i}ﬁﬂl &7 5ol oW HES Ul A "

HJ
5N
iy
o o
;F“:, (!
oo R
gt

oo
T = |
\

> &
>

r
M
o
i
o
2
o,
i
i)

ml © o)
b o o, 3

fo 2

ol O{'l"}‘l

o

2
i o
oo
)
i,
ui

74

Vocabulary Exercise 2

(1) 2e} A7} F- 8] = A n s SEA e 9o

) A 2ol 71 o} X o] B A g F2o] 3

(3) 2 3ol W Aol = A5 A E A o] ANAL) a7 FhA 1A & Ao] £,
(4) A4 & ulo] of = 790l 1= el o] A} Hol 9= 2 ZA 8 of 7.

(5) A5 A5l “*OV 1 A Oiﬁ%ﬂuﬂ Hygo] A& whyg] +E}°k skt
(6)041 1E‘r o1& F 27 5& uf A= 22 FlolT,

(7) 3710l A& = Aol vl7] e e &= AKXt iR

(8) 3 ?JS Gelo] =7] wFof 25 A A& UE %E}

9 9= g HZ—PL%CH’:‘OV]“H of =& A :

(10) A 1S 3= Ade 53 54 %%6] %4'8110# st}

rOl

TN
0 c
5 0
3 a
Ty
(=}
= d
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Application Activity 1

(1) (Answer): (a)
(2) (Answer): (b)
(3) (Answer): (c) or (e)
(4) (Answer): (g)
(5) (Answer): (h)

Application Activity 2

(D) Sk

(2) 1z ed
3) ExA

(4) sl =2l E
(5)Ro] =) 2
(6) St E
(7) ¥y

(8) =44

(9) ofo] &
(10) ¥l

Application Activity 3

(1) (Answer): 38,160 <
(2) (Answer): 88,750 ¢
(3) (Answer): 417,600 <
(4) (Answer): 263,280 ¢

Application Activity 4

(1) SE2F& NFobA] Hhuk7 & 212 4] 1
(@) 5 Sl wop erielel ol Al e/ievt A e e g 25
YAl S,

G AES 11, e A FoRU L

(4) o] o9 7] A 2hah e v 52 A Slo] ehAl S 98 Eok 38
(5) B I 9A]7] Ao ellof 2 o] FR3hA] s Wi 3k Aot Sa

(6) St WE = UHL A& FE=AMaLe] tiu] st Al o]t

(7) 3= E}OIE DA A o e o g

(8) =3y 3Hsd *}o] EWOHE}E AT woll = =AL Fol b 1 e Al Al sl oF
3t
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Application Activity 5

() FIEAJA A AY A& T 7ol = A 227} 7 E o)

Q) AW ¢ BH)= Fapgo] FapsE7) ol = A8 5827} 7 Eok

(3) EFaL 7hoF & AbghE o] o W olof A, 12 Q1< Wi o] 7} £

(4) % A 7ko] 20o] va] = W)}, ¥l 20 ok Askdo] A A Aol 1 mhech
) A A& e, F&xFR o] Fito] vlo] =& F

Application Activity 9

)

A: oA QA8

B: 22 3 o) AEs L sk L.

A: oW 242 A3 %2

Br 6 0] Elok shit] of L Ao $47 w2 Ala

Alﬁiﬁ,lzﬂ%%iﬂ% T 873 O%Ol:o}?q L9052z HEORTT
=2~ o)el o
= T A |-

2 Ma%zz she 1 @<lo] e

TN
9 c
5 0
3 a
Ty
=]
= d
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Skill Enhancement Activity 1

(2)
(a) (Answer): ©] ~E}} 15915
(b) (Answer): 22U EF A8 =2~/ A} AR5 1.8
(c) (Answer): W}E] 2~ o} E A

Skill Enhancement Activity 4

(1) (Answer): True
(2) (Answer): False
(3) (Answer): True

Skill Enhancement Activity 6

(1) (Answer): True
(2) (Answer): True
(3) (Answer): True

Homework 1

(1) (Answer): muffler

(2) (Answer): bumper

(3) (Answer): steering wheel
(4) (Answer): room mirror
(5) (Answer): headlight

(6) (Answer): air conditioner
(7) (Answer): dash board

(8) (Answer): safety belt

(9) (Answer): battery

(10) (Answer): radiator

(11) (Answer): carburetor
(12) (Answer): fan belt

(13) (Answer): air conditioner belt
(14) (Answer): parking brake
(15) (Answer): clutch

(16) (Answer): accelerator
(17) (Answer): pedal

(18) (Answer): window wiper

-
(0]
]
(7]
o
=3
N

voINpon
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Homework 2

(1) W=rol A 3= 3000 PR vket 5= Hl, fh=rel] A= 3000 ~ 5000 Km ARefel] o] 21

sk Alko] A ox AXl A 7] ol A} Aol Fof gt
(Answer): 13 9. w g
(2) BHo]AE A5 AFE-eF Aber LE A 2 AbE U AFSE o] BlE oo
gt g o] BAbski 5 A Al of st R, o] Zlo] X k] B
(Answer): B €| o] A (&}o] ) LA
(3) ol Eolx| &= HlZolup WA & Fol B2 oFs 2 & = QA g
Q7Moo = Ak Aol Hoj AW v ol = Al o] F
(Answer): 2}0| 3 LA
(@) oA ] Aol WX Al-go] 2 AeX| Feth =t EE A F2 A,
Als& 119, o] Al o] v} o}, Also] F A el A ftt.
(Answer): Brd| 2] 1L

Homework 3

(1) (Answer): False
(2) (Answer): False
(3) (Answer): True
(4) (Answer): True
(5) (Answer): False

Homework 4

(1) (Answer): False
(2) (Answer): True
(3) (Answer): True
(4) (Answer): True
(5) (Answer): False

TN
0 c
S5 O
3 a
Ty
(=}
= d
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Homework 5

(1) (Answer): False.
(2) (Answer): False
(3) (Answer): False

Homework 6

A A= F LEEX aL 74] Al Zot g
B: U]? o}, steering wheel & 245 OP\]L 74 T AT 3ol & EESHA =
ko] Q. g R = steermg wheel & A Eo]g}al k=" 8.2

A: o], 17 G ool A<= handle 2 &FFol vk Hel=t 8.7 o A| - H = 5 H A
Al s thAalel & o ekar sl oF shsllo] 8.

N

WE e ATold N E£xtol7) okl Aol S AWE Zhel ATk vk,
G ool A= handle & &3Fo|vk 7he] 7)o, 2ol s d el TE = steering
wheel o] wl& itk @SAFHEL handle o] FHTiEti AZEHA H
wheel 3t 2}&=Fe] HIF| & A Z}617] wiioll a man at the wheel ©] ‘7 38}+=

Abeb S ERRTHE S o] 8 al =t o) o &o] 9l

P

-
(0]
]
(7]
o
=3
N

voINpon
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Homework 8

A: ol of ol 5 B aL 71A]?

B: 7|2}, W2, A EF} F-3lo] =357}

A: A EFLZ 3R} 1133}{%0}

B: 1), Av & P ¢la, 1A A
A:X}Dtﬂo 1:1040] 507]}?

B: Mo 2 5=}, A& o] AL = 9lo] =

A

2 R ok

u] @2& }m b A E T} B Atol A 8 %7] ) Eo.

TN
9 c
5 0
3 a
Ty
=]
= d
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Module 4 Lesson 8

Lesson Scenario 1 — Plan a trip

Smith: What place is worth visiting in Korea?

Min: Gyeongju is really worth visiting! The city is more than 1,000 years old.

Smith: There are many ancient relics there, right?

Min: Quite so. There is Bulguksa (= A}), Chumsungdae (%! “d o), and Sukgulam
(A =<)). There are really a lot of places to visit.

Smith: Really? How can I go to Gyeongju?

Min: You can go there either by train or bus.

Smith: How long does it take from Seoul to Gyeongju?

Min: It will take about five hours.

Smith: I will be taking a good nap on the way.

Min: What? Are you going to sleep without enjoying the scenery outside?

Smith: Yes, I saw the sights of Seoul last night and then even had a drink after that. I
couldn’t sleep a wink.

Min: Even so, you will regret it later if you sleep without enjoying the scenery.

Scenariol Exercise
l.c
2.a

Exercise 3

(1) (Answer): d
(2) (Answer): e
(3) (Answer): c
(4) (Answer): b

Exercise 4

Exercise 6

(1) (b) three nights (X) e §
(2) (b) ten percents (X) § 2
(3) (b) Tuesday (X) 3 ¢E
(4) (a) Friday night (X)
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Lesson Scenario 2 — Plane ticket

Park: This is the travel agency, isn’t it?
I would like to book a flight to Paris.
Agent: When will you be leaving?
Park: Is there a plane on Friday or Saturday?
Agent: Please wait a moment. Yes, there is.
Park: Is it a direct flight?
Agent: No, you have to transfer in Hong Kong.
Park: What is the rate?
Agent: $1,000 one way and $1,600 round trip.
Park: Then, please make a reservation for a round trip ticket.
Agent: Please tell me your name and contact number. All done! Please drop by our office
before you leave to pay for the ticket. About three days before you leave would be

good.
Scenario2 Exercise
1.b
2.a

Lesson Scenario 3 — At the travel agency

Tom: I'd like to visit Korea.

Agent: When will you be leaving?

Tom: Is there a plane on a Friday or Saturday in December?

Agent: Please wait a moment. Yes, there is.

Tom: What time is it?

Agent: Departure is at 10:00 on Thursday and arrival is at 11:00 on Friday.

Tom: Do I need a Korean visa?

Agent: Americans don’'t need a Visa, just a U.S. passport.

There is no problem if you don’t carry prohibited items.

Tom: Then, please send me information on how to rent a car in Korea and

tell me how to fill the gas tank.

Agent: Yes, we will send it with your airplane ticket. If you want to fill the
gas tank, just go to the gas station and tell the helper how much do
you want!

Tom: OK, send me the ticket!

Scenario3 Exercise
l.a
2.a

<
32
EX
17}
=}
=
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Exercise 9

Ak ol o durel] ol 2t} Ay ol oft] 2 2y AL A= 4G
ehat gtk Wl 7h 2 EhaL a2 AR A e F Bl o7 = doj gtk
Q] o717 ol WA 242 A5 BE B & 4Tk o Ahe B E g
FE7AE 6 A7ke] Atk AS7HA Avht A2 Gl A el BAE B
ool 4] el W B2 2L 8158474 = 30 #o] Agieh. A

SR8 g7k Akt AL SAI A Ve 81w gal Aoj ek, B A of A
e A ot 2 sl ol ziu? Brkrke] 44 @ WAk E gk, Buihe] of @

WA 7= kY2

Lesson Scenario 4 — Public transportation

Tom: What number bus do you have to take to get to the Jamsil Sports Complex?
Stranger: Take the number 7 for a while, and then change at Samsung-dong.
Tom: Isn’t there a bus that goes directly from here?

Stranger: There isn’t a bus, but there is the subway.

Tom: Thank you. What line do I have to take?

Stranger: Please, take line No.2. The subway will be fast.

Scenario4 Exercise

l.c
2.¢

Exercise 15

(Possible answers)

mj o] g ol A s aazkA] = B2 AAG A Y7
FaAL B AAFE o T U7

11-6 H-& o11ﬂ]—]j1/\o1147]]_«7

M27E B2 2bA 0 R AFYZRYE A 02 A7 e

o] 5o 4] =& YUY

-
(0]
(7]
(7]
o
3
(-]

paInpow
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Exercise 16

(1) (a) 18,200 (X)

) 7€ 18U X)

(3) (b) A 232 (X)

(4) (c) about three hours (X)

Exercise 17

(1) (Answer): True
(2) (Answer): True
(3) (Answer): False
(4) (Answer): True
(5) (Answer): False
(6) (Answer): True
(7) (Answer): True
(8) (Answer): True
(9) (Answer): True

Vocabulary Exercise 1

(1) (b) AF=3 (X)
(2) (¢) H7dnlE (X)
(3) (d) FA A (X)
(4) (b) AL AF (X)

Application Activity 1

(1) (a) drastically (X)

(2) (c) to waste (X)

(3) (c) to improve (X)

(4) (a) to reduce (X)

(5) (a) to solve (X)

(6) (a) distribution (X)

(7) (b) excessive competition (X)

<
32
EX
17}
=}
=
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Application Activity 6

(1) (Answer): HF8} 1-2] 33}
(2) (Answer): 18,000 ¢
(3) (Answer): 17,400 ¢

Application Activity 9

(Answer): 2ol &= 48 x|t

Application Activity 12

(1) (Answer): 88 T= 20| 4| &+
(2) (Answer): &2 A1} Ao}
(3) (Answer): & 813 =14
(4) (Answer): A otrbel] 9= &

G o> Qo G D Gy

— Qo D

A= A = A7 e

17k
ofxt 7171 Al 9= AL

> m]o

2

Oxn

Jat u}-o] AF

-

Application Activity 13

(1) (Answer): 6, 8

(2) (Answer): 5 3l

(3) (Answer): £<!

(4) (Answer): o) ¥
(5) (Answer): 7-AF, 3 %

-
(0]
(7]
(7]
o
3
(-]

paInpow
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Skill Enhancement Activity 1

(1) (c) one sea gull (X)

(2) (b) steering wheel (X)

(3) (a) all the people in the car (X)

(4) (b) collision with a seagull (X)

(5) (b) a branch of an insurance company (X)

(6) (a) FIEA 3L At} (X)

(7) (b) HIE 3 A A| 8= A (X)

(8) (a) final bad luck, which is seen to prevent all the following bad luck (X)

-%

Alamo ©f % 3}l t}

g ol &0t

<

e
5 O
s 9
=]
=
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Skill Enhancement Activity 5

(1) (a) GAFE(X)
(2) (b) H(X)

(3) (Answer): ' E |

Homework 1

(Answers):

culture of the background area

clean restrooms

pleasant and comfortable surroundings
spacious parking lot

interior spaces fit for taking a good rest
a wide variety of menus

nice service

Homework 2

(1) (Answer): a
(2) (Answer): b
(3) (Answer): ¢

Homework 3

(1) (Answer): T A o] 23] H Fol7tr},

(2) (Answer): 2 F-A], 5 B4, 3= 10 -4 2F2F 8 2| 3h-S A 8 gk}

(3) (Answer): AHH A E o] &3tr}/EbT),

(4) (Answer): = E| < Al 7Hol| = A gHd o] Y & o] -3l

(5) (Answer) =&} g7 B} 7] & A3 gkt

(6) (Answer): T Zol| 7k 22 = ko] thsf) Al e, T2 8w, T WA TS WA
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Homework 4

(1) (Answer): True
(2) (Answer): False
(3) (Answer): True
(4) (Answer): False
(5) (Answer): True
(6) (Answer): True
(7) (Answer): False
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Homework 5

FhadAE 715 ol Fyd.

Fraol A e AR B4 sl

Fraol A v o vighe ¥ S gl
Ffaol e 2Hirel g gol gy

FAraol A= A F S F Y

FhaddE £25E UG

FhadNE ARES A S dndn
Fhad e A48 231 Ay
FhadNE FRAEAL A S dadn

B: o, =5 - oA £?
: S ARJNES F B FA 0] 82

B: H & uhyk, A 8= ofghol = A dskA] eE T

Az ok, g arol = 24 A7 A QISR AL 5 o] 91A] goba?

B: | E Atk A 8 A] o] Foll = A9l Mu|~E = 5 glsu

(Answer): 791} 24 A1 ZF 3FA] U] 7]

Homework 7
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7] W HEQ] = A] & (Restrict Items) ©] 2} $F
Arbs S s7] 918te] B 7] o] §Esles e
A7 T A H e EE5S ok, 7Nk S X =
T E=w 7l o] 5 A =, RH o 7) Q)
AEd F dEFHH

(1) (TRUE)
(2) (FALSE)
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